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e Please check that this question paper contains 7 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 33 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

)
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This question paper contains 33 questions out of which the candidate
needs to attempt only 25 questions.

Question paper is divided into two sections.

SECTION A

e  Part I contains questions 1 to 12 of 1 mark each out of which
any 10 questions are to be attempted.

e  Part II contains questions 13 to 19 of 2 marks each out of which
any 5 questions are to be attempted

e  Part III contains questions 20 to 26 of 3 marks each out of which
any 5 questions are to be attempted.

SECTION B

e Contains questions 27 to 33 of 5 marks each out of which
any 5 questions are to be attempted.

(iti)  All questions of a particular section must be placed in the correct order.

317



febegt @@ 3o & 3o AT |

Qs A
" I

SECTION A
PART I

Attempt any ten questions.

1.

317

3 TSR 1 A8 FarsC A1 fawmeni o T Ju ffdi =61 seqa st g |

Name the market that offers new issues (IPOs) to the investors.

Tug st & g w9 G |

Give the full form of ‘ASBA’.

TS IR O | L3R, (VIX) AR89 YSH i dicil Uit ot 9
odqrsye |
Name the agency that grants licence on VIX to National Stock Exchange.

gfayfd ST § SRR gare <t enured gfieRt 1 3g@ HIf |

State the basic role of stock broker in the securities market.

‘o fue ve=r’ fohd whEd 8 2
Who is called a ‘Self Clearing Member’ ?

gl g -AagIieh =Rl & Ig@ o e sam W foret germe
i Teegar feifea 6t < dendt 8 |

State any two unbusiness-like conducts on the basis of which the
membership of a broker can be suspended.

‘ST sFIeh HrdilcTacs fotfie 3TTE §oh ol 1 Y g 2
What is meant by ‘Open Electronic Consolidated Limit Order Book’ ?

“gfefa 9-313e” 1 T 37 B 2

What is meant by ‘Securities Payout’ ?

HeATeh e o HISIH W Ueh W sh1 WAl shel Sfore fohal Srefm & 2

When is the account of a member debited through valuation debit ?

3 P.T.O.
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10. ‘vg@ Sifgn’ shi it dfe |
Define ‘Principal Risk’.
11. TR Sfafoai o foTu oTTE. v, o115, TH. 37Teie hid aTel §E™ &1 91 arsy |
Name the institution that allots ISIN for the Government Securities.
12. feuiforett o amneff wardt fopg wmT Stmeem 2
Who will be considered Beneficiary Owner in the Depository ?
T 11
PART II
T wier 71 & 3% T |
Attempt any five questions.
13. T.UE.SI.U. & ATl 1 IgE iU |
State the benefits of ASBA.
14. ‘sfaa saE’ & e g 7 2
What is meant by ‘Unwarrantable Business’ ?
15. Qalgd a9 § ey e o1 e foafa |
Write the sequence in which the order matching happens in Pre-open
session.
16. HWhe AT T hiH-H HIehe T YSRIa i el § 2
What Market information is displayed on market watch ?
17. TSI IR §I9R o Teh SATG@TReh Oged, §. . dl. wzalee afdas & g™
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T 800 AT oI 1 =S IAET & T Teh @ 1ew 8 | 998 IRal o Ui §f
IRAl TE qen 9§’ Rl IwTeRdl oW Hed W ShHY:
T 350 AT AT T 250 ARG & | I8 oh (U Ueh 37 He&g o AU IGANTehdl
I ofae foRam | AU ITERRal o fTT S STfeRan STATRAl SATCY o
Fuffa fore S werar 8 3t ToFT i |

M/s. ABC Financial Services, a trading member on the NSE, has a
branch order value of ¥ 800 lakhs for his Chennai branch. Chennai
branch has two users X' and Y’ with user order value limits of
¥ 350 lakhs and ¥ 250 lakhs respectively. Another member applied for a
new user at Chennai. Calculate the maximum user order value that can
be set for the new user.

2x5=10



18. ‘SATparea Y <1 @ 379 @ 2 2

What is meant by ‘offline monitoring’ ?

19. T 991 fobw T T 5,000 K TR #1 6 a9 wwETq ged hI oA hifdw Afg
N W 10% 78 | (R Ishalg & e0-6 = 1-82) 2
Calculate the value 6 years hence of a deposit of ¥ 5,000 made today if

the interest rate is 10%. (Continuous compounding e”*0-6 = 1-82)

I 111
PART III
=gt ater yo71 3 3 9w | 3x15=15
Attempt any five questions.
20. = =1 9&9 o Fwesy 3
(%) & SOR 954
(@) fFgem fm

Briefly explain the following :
(a)  Direct Market Access

(b)  Clearing Corporation

21. ‘PRt KU SR I IRATST AT | 3 SN AHEUST &l 3@ hIT | 3

Define ‘Retail Debt Market’. State its trading parameters.

22, Ufer fuer  geier e aThe-aTgg wfthe Siehd I TaT | THATT | 3
Briefly explain index based marketwide circuit breakers in rolling

settlement.

23. srautt (fen) =R fafem, 1992 % =aia efia aug IH a9 SAafe fwa
Ed 8 ? 3
Who is called deemed to be ‘connected person’ as per Insider Trading
Regulations, 1992 ?
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24.

25.

26.
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R Gl ATf=m, 1872 % TEEMI o IR Tolwe’ 1 F=T1 379 3 ?

What is meant by an ‘Agent’ as per the provisions of Indian Contract Act,

1872 ?

giefert ® ST SR Ighkadi sl 689 § FHEST |

Briefly explain the unfair trade practices in securities.

T Herl o fow § Foey e & 7 R
fereror = fereror T

< <

IEER 95,20,000 | Tl gftewafeai 14,40,000
Sl TT¢ AT <l AT 19,20,000 | I& T 15,00,000
g AT 3,60,000 | I (SEHTIcTh) 9,00,000
3fed w2 8,00,000 | =], AT 6,00,000
3T AT gt 7,60,000 | TS qAT L q& Yg AH 8,00,000

AT HINTT : (i) Wbl @Y STUTA, AT (i) TTeh AEd UG |

The following information is given about a company :
Particulars Am;unt Particulars Am;unt
Sales 25,20,000 | Fixed Assets 14,40,000
Cost of Goods Sold 19,20,000 | Net Worth 15,00,000
Net Profit 3,60,000 | Debts (Long Term) 9,00,000
Average Inventory 8,00,000 | Current Liabilities 6,00,000
Other Current Assets | 7,60,000 | et Lrofit before Interest | g )

U and Tax

Calculate : (i) Gross Profit Ratio, and (ii) Inventory Turnover Ratio.
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SECTION B

Attempt any five questions.

217.

28.

29.

30.

31.

32.

33.
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‘STaTiieh w6 WYY i G&Y H HAHET |

Explain briefly the ‘Surrender of Trading Membership’.

Y@ STYR o &9 H UgAM o (€ Th $hs o I fohadl g Uofl aHT
TR ? I SHIEAT hl FAT SIS, e @ STUTEhT hl T8I hl TTAN 7 |

What amount of net worth must an entity possess to be identified as a

dominant shareholder ? List the entities that are allowed to be identified
as dominant shareholders.

¢fer SaUTies TRl & SRON I 989 § HETE |
Briefly explain phases of the Daily Trading Operations.

“Uereferdt AT b1 @1 31 2§ 2 3eh! fafyrse fommaneti &1 3g@ il |

What is meant by ‘Activity Log’ ? State its special features.

‘1Y YU hl G&T H THEAST |

Briefly explain ‘Order Management’ .

IR AR § FoRT T SR o wEreneA qen faem ufshen ® aftifera s #
Tay | qui Hife |

Briefly describe the entities involved in the process of Clearing and
Settlement of the trade executed in the Stock Exchange.

TS I ST9R o6 YSi IR QU8 | YAyl o THel i H9eH Jfsham i
&Y | HHSY |

Briefly explain the Settlement Process for transactions in securities in
the Capital Market Segment of NSE.

5x5=25
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